
LESSON NO. 7: GEOMETRIC SEQUENCES

SEQUENCES & SERIES (Q 5, PAPER 1)

2005
5 (c) In a geometric sequence of positive terms, the third term is 1

4  and the fifth term is 1
16 .

(i) Find r, the common ratio.

(ii) Find a, the first term.

(iii) How many terms of the sequence are greater than 0.01?
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5 (a) The first term of a geometric sequence is 4 and the commom ratio is 1.5.

Write down the next three terms of the sequence.

SOLUTION
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As it is a geometric sequence of positive terms take r = 1
2 .

5 (c) (ii)
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5 (c) (iii)
How many terms are greater that 0 01 1

100. ?=
Write them out and count the number of the terms that are greater than 0.01.
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You can see that each of the first seven terms are greater than 0.01.

SOLUTION

Write down the first term and keep on multiplying by the common ratio, r, to generate the
terms of the geometric sequence.
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5 (a) T1 + T2 + T3 +.... is a geometric series.

The first term, T1, is 1 and the common ratio is 2.
Show that

T3 + T5 = 2(T2 + T4).

SOLUTION

To produce a GEOMETRIC SEQUENCE, start with a number, a, and keep on
multiplying by a number, r, forever.

Geometric series: 1 + 2 + 4 + 8 + 16 + ...
T1 = 1, T2 = 2, T3 = 4, T4 = 8, T5 = 16

T T
T T
T T T T

3 5

2 4

3 5 2 4

4 16 20
2 2 2 8 2 10 20

2

+ = + =
+ = + = =

∴ + = +
( ) ( ) ( )

( )

(© Tony Kelly & Kieran Mills)


